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PROBLEM 4.9:

() Draw a sketch of the spectrum of 2t} which is “sine-cubed® (1) = sin®{400=)
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(b} Determine the minimum sampling rate that can be used to sample z(i} without any

alinsing,

= [, = 1200H:

Bk, St md Vb, g Procrasng Mo 15000 4-15-00 5021 T s bt e v el
Prassian Fretios Hall, L Uppir Smacls Roag, 12000 2000 P i o T 39, 30




o T -
PROBLEM 11.2: y

(@) e Fouriea Transform {FT) 06 5{'{} is L. Thes, +he
FToof {(#-4) is 1e84 |
FTixf = FT{8r0g + FTia8)] + FT§86-n
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is a shiffed “sinc” funetion

This F.T. caa be found n Table 12.1.
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PROBLEM 11.3:
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PROBLEM 11.5:

Use Hhe derivalive property:
Loxtt) T jw L)

x(£) = sin(4wt)
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